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Supply-side measures, then, are a powerful way of influencing both output and the level of employment whilst demand measures, according to classical economists, are positively harmful.
In general, aggregate supply will increase if 
1. there is an increase in the number of workers' willing to work at the going wage rate (many of whom may be counted officially as unemployed, but in theoretical terms form part of the voluntary unemployed); 
2. an increase in the stock of land or capital for production; 



Why Africa still needs aid
By Bob Geldof, Special to CNN (November 2013)
Editor’s note: Bob Geldof is a member of the Africa Progress Panel, chaired by Kofi Annan, and a musician, businessman and campaigner against poverty. The views expressed are his own.
With the U.K. becoming the first G-8 country to spend 0.7 percent of its gross national income on overseas aid, the government’s recent budget was an exciting moment for the international development community.
But with extreme poverty falling all around Africa, and the continent’s mineral resources providing more revenue now than international aid, some observers are asking whether international aid is out of date.
Africa needs trade, not aid, they say. In truth, however, they still need both.
Africa has the world’s fastest growing population, expanding by more than 20 million every year, and must create jobs fast to keep its unemployment rate from rising. Some analysts highlight the Middle East, where failure to generate enough jobs for young, urbanized populations had catastrophic consequences for political and economic stability.
Trade – in its broadest sense – will create the jobs that Africa so badly needs. So Africa’s leaders must identify and nurture labor-intensive industries such as agriculture, manufacturing, and hospitality in order to create more jobs.
It can be done.
When Mali’s government built infrastructure (including refrigeration) to deliver mangos from landlocked Africa to Europe, transport times dropped from 25 days to as little as 12 days, while mango exports increased more than 1,000 percent over 15 years, the World Bank has noted. The 

success brought jobs and income for Malian farmers, and set an excellent example for African agriculture, which accounts for more than half of the continent’s workforce.
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3. more entrepreneurship; or an improvement in the efficiency of production in the economy. 
Classical economists argue that there are a number of ways in which the Government can increase aggregate supply in the economy: Here are 6 examples:
3 Encourage entrepreneurship Entrepreneurs are vital to any free market system.  By taking risks they create new jobs, and today's small entrepreneur is tomorrow's large successful company.  Cutting marginal tax rates, cutting government red tape (like health and safety regulations for employees, and planning permission for premises), and providing a reliable source of cheap labour will all help entrepreneurs to make the profits necessary for survival in a competitive environment.

2 Reduce welfare payments for the unemployed 

Workers are less likely to be willing to take jobs if unemployment benefits are high in relation to average earnings than if they are low.  Cutting unemployment benefits will encourage the unemployed to take jobs.  They will spend less time looking for jobs and will be more prepared to take low paid jobs.  On this argument, the workings of the welfare state create unemployment.


1 Reduce marginal tax rates 
Classical economists argue that the higher the marginal rate of tax, particulary taxes on income and wealth, the less incentive there is to work.  Reducing margin tax rates will increase workers willingness to work. More income.





6 Competition policy

 The forces of competition keep industries efficient.  Therefore, competition should be increased wherever possible.  In the 1980s, for instance, the UK Government increased competition in the provision of financial services by giving building societies wider powers to compete with banks, and through 'Big Bang'-the deregulation of the Stock Exchange and other money markets.  The Government also has a responsibility to encourage free 
trade. Competition from foreign firms is essential if British industry is to remain efficient.


4 Reform labour legislation
 Over the years, workers have gained rights in law.  For instance, workers are protected against unfair dismissal.  They can strike or take other industrial action.  In some industries there are maximum hours of work per day or per week.  Health and safety regulations protect workers.  These all impose costs upon employers.  Reducing the rights of workers will encourage firms to employ more people.


5 Privatisation 


There is no incentive for public sector enterprises and bodies to be efficient.  The private sector, on the other hand, is subject to competition.  If firms are inefficient they will be driven out of business.  Privatising the public sector provision of goods and services will automatically increase efficiency in the economy as a whole.
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